Transfers Report

This report contains the transfers results.

Contest Name

Ward 21 North East

Valid Votes
4,315

Positions to be Filled
Quota
3
1,079

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gerry BOYLE	Independent	427
Maureen BURKE	Glasgow Labour	1,176
Stephen DOCHERTY	Glasgow Labour	342
Frances HOWELL	Scottish Conservative and Unionist	524
Ruairi KELLY	Scottish National Party (SNP)	971
Jenny KIERNAN	Tommy Sheridan - Solidarity - Hope Over Fear	34
Mandy MORGAN	Scottish National Party (SNP)	739
Carole URE	Scottish Green Party	102
	Total	4,315

Candidate Maureen BURKE Elected with 1,176 votes, being in excess of the quota of 1,079

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Maureen BURKE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	70	0.08248	5.77360
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	846	0.08248	69.77808
Transfer to Frances HOWELL	37	0.08248	3.05176
Transfer to Ruairi KELLY	45	0.08248	3.71160
Transfer to Jenny KIERNAN	14	0.08248	1.15472
Transfer to Mandy MORGAN	24	0.08248	1.97952
Transfer to Carole URE	15	0.08248	1.23720
Value of non-transferable ballot papers			10.31352
	Total		97.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Jenny KIERNAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	3	0.08248	0.24744
Transfer to Gerry BOYLE	4	1.00000	4.00000
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	3	1.00000	3.00000
Transfer to Stephen DOCHERTY	4	0.08248	0.32992
Transfer to Frances HOWELL	1	1.00000	1.00000
Transfer to Ruairi KELLY	5	1.00000	5.00000
Transfer to Ruairi KELLY	3	0.08248	0.24744
Transfer to Mandy MORGAN	3	1.00000	3.00000
Transfer to Carole URE	6	1.00000	6.00000
Transfer to Carole URE	2	0.08248	0.16496
Value of non-transferable ballot papers			12.16496
	Total		35.15472

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Carole URE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	15	1.00000	15.00000
Transfer to Gerry BOYLE	4	0.08248	0.32992
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	7	0.08248	0.57736
Transfer to Stephen DOCHERTY	23	1.00000	23.00000
Transfer to Frances HOWELL	15	1.00000	15.00000
Transfer to Ruairi KELLY	12	1.00000	12.00000
Transfer to Jenny KIERNAN	0	0.00000	0.00000
Transfer to Mandy MORGAN	1	0.08248	0.08248
Transfer to Mandy MORGAN	27	1.00000	27.00000
Value of non-transferable ballot papers			16.41240
	Total		109.40216

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Stephen DOCHERTY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	147	0.08248	12.12456
Transfer to Gerry BOYLE	70	1.00000	70.00000
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Frances HOWELL	54	1.00000	54.00000
Transfer to Frances HOWELL	130	0.08248	10.72240
Transfer to Ruairi KELLY	73	0.08248	6.02104
Transfer to Ruairi KELLY	33	1.00000	33.00000
Transfer to Jenny KIERNAN	0	0.00000	0.00000
Transfer to Mandy MORGAN	19	1.00000	19.00000
Transfer to Mandy MORGAN	34	0.08248	2.80432
Transfer to Carole URE	0	0.00000	0.00000
Value of non-transferable ballot papers			231.01304
	Total		438.68536

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Gerry BOYLE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	0	0.00000	0.00000
Transfer to Frances HOWELL	30	0.08248	2.47440
Transfer to Frances HOWELL	74	1.00000	74.00000
Transfer to Ruairi KELLY	128	1.00000	128.00000
Transfer to Ruairi KELLY	20	0.08248	1.64960
Transfer to Jenny KIERNAN	0	0.00000	0.00000
Transfer to Mandy MORGAN	13	0.08248	1.07224
Transfer to Mandy MORGAN	78	1.00000	78.00000
Transfer to Carole URE	0	0.00000	0.00000
Value of non-transferable ballot papers			249.27928
	Total		534.47552

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Ruairi KELLY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	0	0.00000	0.00000
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	0	0.00000	0.00000
Transfer to Frances HOWELL	2	0.00580	0.01160
Transfer to Frances HOWELL	10	0.07033	0.70330
Transfer to Ruairi KELLY	0	0.00000	0.00000
Transfer to Jenny KIERNAN	0	0.00000	0.00000
Transfer to Mandy MORGAN	968	0.07033	68.07944
Transfer to Mandy MORGAN	70	0.00580	0.40600
Transfer to Carole URE	0	0.00000	0.00000
Value of non-transferable ballot papers			12.42934
	Total		81.62968

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Frances HOWELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gerry BOYLE	0	0.00000	0.00000
Transfer to Maureen BURKE	0	0.00000	0.00000
Transfer to Stephen DOCHERTY	0	0.00000	0.00000
Transfer to Ruairi KELLY	0	0.00000	0.00000
Transfer to Jenny KIERNAN	0	0.00000	0.00000
Transfer to Mandy MORGAN	2	0.00580	0.01160
Transfer to Mandy MORGAN	3	0.07033	0.21099
Transfer to Mandy MORGAN	49	0.08248	4.04152
Transfer to Mandy MORGAN	91	1.00000	91.00000
Transfer to Carole URE	0	0.00000	0.00000
Value of non-transferable ballot papers			589.69935
	Total		684.96346